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Reg. No.

V Semester B.Com./BCTT/LSCM B.Com. (Tourism) Degree Examination,

March/April - 2022
COMMERCE
Costing Methods
(CBCS Scheme Regular/Repeaters)
Paper : 5.4

Time : 3 Hours Maximum Marks : 70
Instructions to Candidates:

Answers should be written completely either in Kannada or in English.

Section - A

IS R - D

Answer any FIVE sub-quest? ch sub-question carries 2 marks. (5%x2=10)
2 8913 CIRRTIEAR B3> v TIRYR UZOR. T 3cdnor BB ST Sosrie.

a)

b)

c)

d)

Give the meaning of work uncertifi

‘T RIRIEBORT FOR' STPFEI), 39A. ¥

What is job casting ?

VREVR 53, ArdFoDd TYFoTIE ?

Mention any two industries where operating costing is used.

FoCF ISF T [, m%am UTOIRENTT CIRPTOTOR TR FMOdBRYR),
394.

Give the meaning of ‘by-products’; with suitable example.

‘T QTR F0TBBOWOTRY BOY VTOTOEAIRODT ST FA.
What is retention money ?

VPABROE (FO0) T 0WBER0 ?

What is 'Escalation Clause' ?

‘BOFS (D0F) =WOR' HoTTeD ?

What do you mean by -abnormal process loss' ?

‘ETORRS, BYdR I Q0[O ?

[P.T.O.
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Section - B
R - 0

Answer any THREE questions. Each question carries 6 marks. (3%x6=18)

2 BUNS cnRPYmete Soed JZnen wvgd. ,303R0T38R, BT LT,

Briefly explain the different methods of costing.

S Reor chTRD DG DOSNYS), HogFoN Q[OA.

Annual demand for the component: 9000 units; set-up cost per batch Rs. 900;

carrying cost per unit of production: 2% per annum, manufacturing cost per unit
Rs. 90;

Calculate: a) Economic Batch Quantity and
' b) find out the number of batches to be produced to meet the annual |

requirements.
2om SRS moard el : 9000 PUBNL, DT &%, : dr.900 (=3 noot/
RSoRTE); TOXFT Esie]. V) x»%? 33, (Ze PuBY); 2%, VIO g dn.900 (3,8

Puss). 35 OITNECT
a) RHIFT LURT agé:&g o
b) moars diatoba) PIIOGHBOTIET W), 10D ()N

FOROLBOND.

The following information relates to Contract No. 971

Particulars Amount (Rs.)
Contract Price 80.00,000
Materials 7.00,000
Labour 5,00,000
Tools & Equipment 5,00,000
Plant 12,00,000
Materials at site 1,00,000
Tools & Equipment at the end 4.,50,000

Depreciate Plant @ 5%
Work-in-Progress

Work Certified 12,00,000
Work Uncertified 2,00,000
Cash received 10,00,000
Date of commencement of contract 01-06-2021

Prepare Contract account as on 31% March 2022.



R @
2 39T oFonw IR F0.971 § TowoDAS.
QFONE 308 (Sw.)
ro3rcd e 80,00,000
TN, TS0 7,00,000
g0 5.00,000
[OTT FL IUFOHERD 5,00,000
00,1 ; 12,00,000
2HTICYTOR WENTY B0S T 1,00,000
Togd S Torosne #e3(31.3.2022 od) 4,50,000
o Ry BedT BIP %
T, 780300 SR
T, BREFOAT TOX 12,00,000
T, RRedeB0IT T 2,00,000
R VBRETOT TR B 10,00,000
rdrtod m,Toyis DF0E 01-06-2021

31.03.2022 8 SnpEnesosids

HoesonrEed 3R Fo. 971 T ST IAR0A

5. A Transport company is runnin zlzscs between two cities which are 100 Kms
h

apart. The seating capacity of eac
carried were 80%. Each bus made one ro

the days of the month. Calculate for the mon
b) Total Passenger Kms.

2,08 FOR Ho¥os) 100 8.80¢. S0ITHAE ST SO o0
53 WS RS WREF,F S0 Tonedsdd. Sodpedns B0 T

t@' 50 passengers. The actual passengers
ip per day. All the busses run on all
January 2022: a) Total Kms and

5 RO hax3s.
cdneded Hods, : 3. 80

o, B3 wRd OFE, 1o w0 Lowd Idten SodRomd SdY Boeh T, WIT.

S R Sones oy, OFnveR, JoWoRYS.

% Tt DNONE0 RS0 2022 § RowoRTOS a) i), B.800. 7D TR b) 2t

T oinedd 3.800.198) BoT&EON0.

6. A factory producing article X' also yields Y and Z as by-products. The Joint cost of

manufacture and subsequent expenses are as below:

Particulars Joint
Expenses X

(Rs.)
Materials 1,00,000 20,000
Labour 50,000 15,000
Overheads 25,000 5,000
Total 1,75,000 40,000
Selling Prices 2,50,000
Estimated profit on selling price 35%

Subsequent Expenses (Rs.
b

10,000
10,000
5,000
25,000
1,00,000
40%

)
Z

5,000
2,500
2,500
10,000
75,000
50%

Show how you would propose to apportion the joint cost of manufacture, under

reverse cost method.

[P.T.O.
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2000 BARFHDY S emsas X' S, Sedndmn Y D 'Z' Q0w v SRS
Sodmo:)msd QNG I0L3 a)zaras mm ITOTONT DT AT s i%odoéd

WITCD okl SDODT  DeDFRYd  (BR.)

DWFNTD X Y Zz
(Ow.)

TSN, REd 1,00,000 20,000 10,000 5,000

gnd 50,000 15,000 10,000 2,500

ez, 25,000 5.000 5.000 2,500

2, 1,75,000 40,000 25,000 10,000

Seoeus ¥d 2,50,000 1,00,000 75,000

IR0 WSoDd ed

SOTRED ooyl 35% 40% 50%

wWOkS DLDFNTPR) odnss e SOLNTRY SRR DedF SEUR0E DFRITY, okl

abzsorr{'éag‘ LIDNTOT a:;‘%odaa’g{

}.
:u;no%‘?)/

Answer any THREE questions. Each question carries fourteen marks. (3x14=42)
31 BINT clRJTREte ST BZnor Lugon. ‘g’éodmocﬂim‘ asaaao% E208LD.

7. Product 'A' passes are through three process for completion. For the month ending
December 2021 the following the details:

Particulars Process

Total I I 11}
Direct materials (Rs.) 74,620 10,000 30,000 34,620
Direct labour (Rs.) 2,90,000 2,00,000 40,000 50,000
Direct expenses (Rs.) 75,000 40,000 20,000 15,000
Production overhead (Rs.) 15.590 4,350 8,710 2,530
Normal loss . - 3% 5% 10%
Sale of scrap per unit (Rs.) 10 30 . 50
Production in units 950 900 830

1,000 units at Rs. 100 per unit were issued to process 1.
Prepare process accounts, abnormal loss and abnormal gain account.
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'A' INY S NRNTT ToINY 3, 0dnves ~c:$ SRTNZE. @Fows® 2021 T
30?1%036 33 Yo asdmb o, mnzﬂ

:.)zdn’vb &, 8, 0ned

B0, I Il I
Sed g1, WIOAAWD (Tn.) 74,620 10,000 30,000 34,620
30 R0 (On.) 2,90,000 2,00,000 40,000 50,000
Sed D (dn.) 75,000 40,000 20,000 15,000
wHRTm DedYPnd (de.) 15,590 4,350 8,710 2,530
TR, I, 3% 5% 10%
T,%T (scrap) Inoous B¢
(T3 pued) () ; 10 30 50
NOROT LW 950 900 830

ag,a PuEg 100 de.nved 1,000 PuIndR) 1 e T T)3,001 JeBNS.
LB TT 96 ood NG To3T asaa’rw;b aam e*?was I, D CRINT, YIT
amirwzo 3od0n.

A tmnsport service compadﬁw.ing 4 buses between two cities, which are 150
Kms apart. Seating capacity of 60 passengers. The following particulars were

obtained from the books for the mo %ovcmber 2021.

Wages of drivers, conductors, cleaners . 2,40,000
Diesel, oil etc., . 4,00,000
Salaries of office staff Rs. 1,00,000
Repairs and maintenance Rs. 80,000
Taxes and insurance Rs. 1,60,000
Depreciation Rs. 2,60,000
Interest and other charges Rs. 2,00,000

Actual passengers carried were 90% of the seating capacity. All the busses run 25
days of the month. Each bus made one round trip per day. Find out:

Cost per Kilometer and b) Cost per Passenger Kilometer

20T O e x)o~o.m 150 3.20¢. ©4030ATHT ACE Inon mr,s 4 z.mﬂ#w
LaET. TS LAT c:mﬁ AR, F 60 T,0dnedE. JISowot 2021 qxouocpm a)zsra
&)afdmfm ~o$odo Lo e m.:odrivod TBD B3 R BN

2OED, QEOF B 3333 3RONY wRd (8r9)  Rs.2,40,000

RS, aeda% a0 Rs.4,00,000
gejed ~woc>o:a Do Rs.1,00,000
TR ab& N~ T 1 Rs.80,000

301 DD "o Rs.1,60,000
faoni A Rs.2,60,000
W DI 93 Seied Rs.2,00,000

[P.T.O.
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T 0UREIAT FODNO T,odnedsT Tos, Je. 90 O o) WANL SonesY, 25 OInd
ROBOWIS. F& WAy OFF 10w WO 10w IS IR0 Frivy Feen mTR
(Alovfnl :

FoAR a) P& womd ULV T MF Y  b) TS wowd I odmeds
SEBEDEITT Ireos DT FRITYRY 0w HBOWD.

9. A company have undertaken the construction of a building on 01-07-2020 for Rs.
99,00,000. The Wetails regarding contract as on 31-03-2021 are as follows:

Particulars Amount (Rs.)
Materials: -
Direct from suppliers 25,00,000
From Stores 5,00,000
Direct labour 25,00,000
. Direct expenses 2,00.000
Value of plant installed at site 10,00,000
Administrative overheads chargeable to the contract 50.000
Materials returned to suppliers 25,000
Materials returned to s{&as 5,000
Materials on hand at site 22.500
Accrued direct labour 30,000
Accrued chargeable expenses { /

10,000
Sub-contract cost eQﬂ 3,00.000
Work Certified as approved by the archite¢ Q), 60,00,000
Work Uncertified at cost 2,00,000
Cash received 90% of work certified
Charge depreciation@ 15% p.a., on the value of plant
Prepare: 1) Contract Account and 2) Cuntractee Account
WOTD BOTCINL 90 oF TRoNG TR JIRFT rodriod TCDFIR, OT0E
01-07-2020 Zoxb %riraoé‘d. 31-03-2021 &° STLFOZ,T Sedrt TOSAR WowoRAT IITEd
B3 BYF0m03I.

TN Se3 (Tk.)
TN, Med:

AOWTREIETTOCT TN FE0LATD, 25,00,000
TORONOT FHLAT, 5,00,000
Je0 &nd 25,00.000
360 0WDFLD 2,00,000
VBeBITY TWAATOT o0, WTTrL 10,00,000
3 Fowohas wEesgs Dedurivd 50,000
BOWORETTITOR L0DTONAG BRI, rsd 25,000
TR HoDHMT RN, 5,000
REBITLRPOTT TOToN, e 22,500
30 BRI wod (Rous3) 30,000
S0 adrne wod (Fou) 10,000
T-rOSRch Fn3 3,00,000
mdYowen IInedesoten oz 60,00,000

I InedeeoR fon E 2,00,000
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10.

3R VERTT00T TECDRT Ts - TRRAIEFOAT FUIT Fe.90 o=,
0003, ST FoedS BIFO - AFE 15%
1) ™28 a3 DX (2) rOIR AeBTSIT 2RI SAROA.

The following expenses were incurred on Job No. J-1234.

(a) -Direct Materials Rs. 45,000

(b) Direct Wages:
Department X 25 hours @ Rs. 90 per hour
Department Y - 20 hours @ Rs. 50 per hour
Department Z 15 hours @ Rs. 80 per hour

(¢) Works overheads of these departments were estimated as under:
Department X Rs. 40,000 for 2,500 working hours
Department Y _ Rs. 60,000 for 3,000 working hours
Department Z Rs. 30,000 for 2,250 working hours

(d) Office overheads . 2,00,000 when total direct wages paid in ail these
departments were Rs. 5; . It is the practice to recover office expenses as

a percentage of direct wages. ( /
You are required to calculate the cost@% No. J-1234 and the price to give a
profit of 50% on selling price. '(P

31 or DWFN WA X J-1234 R Fowodass.

(a) Heg NN dr.45,000

(b) [T B8rd:
dgen X 25 noddnisb, =8 nowdn de. 90 To3
den Y 20 notdnsb, w8 rotdt de. 50 To3
R Z 15 nodnsd, =8 nodt de. 80 To3d

(c) & LYonned mars doe%zs“a:agt B 3P80E03 Loz SRBEOVNS.
wgn X 2,500 3oxm nowdnenr de. 40,000
n Y 3,000 o3z nogdner de. 60,000
dn Z 2,250 goxz notinen dre. 30,000

(d) & o pennd Jed sedad SHedy de. 5,00,000 newn, ¥eied Boede
82.2,00,000 AATLIE. QDTORe OERIE o OyRIE TJC eI
FoeGHERI) 60 oD SeBHTD TRINed e PoRorb3T.

e sox J-1234 © 0D, SIS, Torte Inooud Wdod oed Je. 50 O, ©Rt703

WEToZ Ioond zi’do:bag‘ BORO&GABOND.

[P.T.O.
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11. In manufacturing the main product EXE, a company processes the resulting waste
material into two by-products X| & X2. Using the reverse cost method, you are
required to prepare a comparative profit and loss statement of the three products
from the following data:

Total cost upto separation point was Rs. 1,36,000.

Particulars Main By-Product
Product EXE X-1 X-2
Sales (all production) - : 3,28,000 32,000 48.000
Cost after separation - 9,600 14,400
Estimated profit % on selling price ? 20% 30%
Estimated selling expenses as a percentage to sales 20% 20% 20%

200 FoTACIN Foww uSFwer EXE o) SodndROTR, wes I,E,BY X1 W
X2. Q00 Q0B wm-cm‘:dagtﬁvag SoIn0AIE. B N irat.z‘dm FAT™ o7 gL=lotew aoda%ab
DWBF cmozsw T WYRBROTD DUTIT ooy X aa{;}:s aa‘uzobasi S03R0A.

IR T3, 8RR > adedr e.1,36,000.
QTONED ( NSO uow‘-wéﬁt

/ w33 EXE X1 X-2
IR0 (Rogper emsg_)dé) ’(Bq,?)/ 3,28,000 32,000 48,000
SUIF R T3, eBri00E 030w DoF -~ 9,600 14,400
BRI Wdod Bed Lomotd Besmomdd oyl ? 20% 30%

RR0EIT DS LoD BesEowotd RWeookits dF  20% 20% 20%




